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Unit 10 Day 5 HW
1.

x =2.1240
y = 0.9534
y = 3.2056
x=1.2152
x =1.2925
x =-0.8155
See slide for work

Feb 9-2:06 PM
Name, Alg 2 cC
Date. Unit 10 Day 5 HW
Solve each equation. Round to the nearest ten-thousandths place.
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7. Graph the logarithmic function y = logz(x-4) - 1 en the graph below.
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in the previous unit was

a. Wr'n'e function

= kit Aee) =

&
c. Estimate how @'

To the nearest hundredth of an hour

Using Logarithms to Solve Real World Word Problems.

Unit 10 Day 6

Recall that for an exponential mo el that is growmg el decaying the formula that we used
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1. A cup of green tea contains 35 milligrams of caffei g

approximately 12.5% of the caffeine from their s
his sn'ucmos.é

*=33¢ h(f) BSC}— 2§

ne—The-ayerage teen can eliminate

Lachr

b. Estimate the amount of caffeine in a teenager's boﬁ- after
dr'|mk|n-g}a cup of green tea. To the nearest hundredth

M D)= 35BSy ASmg

ill take To have 15 milligrams left in their system.
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2. A biologist is modeling the population of batgoh a iropical island. When he first
starts observing them, there axg 104 bats) The biologist believes that the bat
population |_&;re. of 3% per year.

a. Write an eql}qﬂ’on For the number of bat B(t)) as a function of the number of
year@smce the biologist sTur‘Ted observing them.

b. Using the equation from pa@ulgebmically determine the number of year;
it will take for the bat populafion to reach 200, Round your answer to the

Y Nearof a year
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3. Astock has been/pvée at a steady pace o@per week. If the st@

started at a price of $22.50 per share, determine algebraically the number of(wee

it will take for the price to reac (m Round your answer to the
L 3 it Nearest fent}) of a week
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4. Mandy's parents gave hef $5000)to mve.st for her sweet sixteen-birthday present.

Her parents advised her to put it into ha‘r will pay he 4.6 % compounded
guarterly. Algebraically determine, to the neur‘es( tenth)of a year, How long it would

T/{ke. her 1@ doubste her initial investment: rd— - ‘Oqé
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